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p_4 Grid Multiplication 1.
This is how you work out 23 x 7 20 3
using grid multiplication. 7 140 + 21 =161.

A).  What sums are being worked out with these grids ?
You do not need to work out the answers !
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B). Write down the sum being worked out in each grid.
Copy the grid and then work out the answer.

D40 2 - 20 1 30
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You can use grid multiplication to work
out much harder sums, such as 36 x 72.

2100 + 420 + 60 + 122

=2592.
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E). Write down the sum being worked out in each grid.
Copy the grid and then work out the answer.

1).

30 6 210 7 - 40 3 - 30 4
20 40 20 50
3 1 7 3
- 20 6 0 10 8 - 30 3 8. 20 4
30 20 40 60
4 4 2 2





